
EYECATCHER SOLAR SUPPORT BV.   Candelastraat 2   2441 LR Nieuwveen   The Netherlands
T: +31 (0)172 575 570   E-mail: sales@eyecatchersolarsupport.nl   www.eyecatchersolarsupport.nl
KVK/CC: 86149482   BTW/VAT: NL8638.77.114B01  ING bank NL27 INGB 0675 7742 84   BIC: INGBNL2A

SOLARFIX
the obvious choice

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

GHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
ION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix - Valkpro

2016-013-012

20-mei-20

1:30

WH

A3 -

900 1500 500 135

10°3234
1

Panelsize + 10mm 260

PRODUCT & TECHNISCHE INFORMATIE
 ■ Mechanische fixatie van PV panelen
 ■ Compatible met elk merk PV frame
 ■ Direct onder het frame of middels een connection bar  
 ■ Op de markt sinds 2010, langst bewezen track record
 ■ Voor platte en hellende daken
 ■ Grote oppervlak reduceert de druk op de isolatie
 ■ Geringe hoogte van 12mm met een M10 bout bovenop
 ■ Compatible met elk type dakconstructie

 ■ Solarfix bestaat uit één geheel, geen naden, geen lekkage mogelijk 
 ■ Duurzame en resistent materiaal voor aggressieve omgevingen
 ■ Gepatenteerd
 ■ Dutch Design & Dutch Quality
 ■ Meerdere versies beschikbaar, waaronder Niet-Mechanische gefixeerd
 ■ TÜV gecertificeerd waterdichting EN-1253-2:2015
 ■ Vertikale en horizontale krachten getest door DEKRA GmbH
 ■ Combinatie mogelijk met Valbeveiligingssysteem EN-795:2012 type C

Dakplaat Metaal – Schroeven

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Steel roof screwed

2016-013-016

08-jul-20

1:2

WH

A3 -

3 6 Roof construction screw WUERTH
0838448300

2 1 Rosette Ø540xØ130mm
1 1 Solarfix post - Low Perfo - Base 2016-013-015

Item Qty Description Dimensions Material / Standard

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Steel roof screwed

2016-013-016

08-jul-20

1:2

WH

A3 -

3 6 Roof construction screw WUERTH
0838448300

2 1 Rosette Ø540xØ130mm
1 1 Solarfix post - Low Perfo - Base 2016-013-015

Item Qty Description Dimensions Material / Standard

1

3

2

Dakplaat Metaal – Tuimelanker

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Steel roof toggle bolt

2016-013-017

10-jul-20

1:2

WH

A3 -

8 1 Washer DIN 9021 - A10.5 A2
7 1 Flanged hexagon nut DIN 6923 - M10 A2
6 1 EPDM seal ring 9082EPDM10 NBR70 / Acrylonitrile-butadiene / Nitrile
5 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155 EN AW-1050A[Al 99,5] (Al1S) / 3.0255.10
4 1 Toggle bolt M10x300 2016-008-001
3 1 Hexagon nut DIN 934 M10 A2
2 2 Toggle bolt washer
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Steel roof toggle bolt

2016-013-017

10-jul-20

1:2

WH

A3 -

8 1 Washer DIN 9021 - A10.5 A2
7 1 Flanged hexagon nut DIN 6923 - M10 A2
6 1 EPDM seal ring 9082EPDM10 NBR70 / Acrylonitrile-butadiene / Nitrile
5 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155 EN AW-1050A[Al 99,5] (Al1S) / 3.0255.10
4 1 Toggle bolt M10x300 2016-008-001
3 1 Hexagon nut DIN 934 M10 A2
2 2 Toggle bolt washer
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

5

1

4

2

3

7

8

6 Dakplaat Hout – Schroeven

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Wooden roof screws

2016-013-019

10-jul-20

1:2

WH

A3 -

3 1 Solarfix post - Low Perfo - Base 2016-013-015
2 8 Roof construction screw WUERTH

0838448300
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Wooden roof screws

2016-013-019

10-jul-20

1:2

WH

A3 -

3 1 Solarfix post - Low Perfo - Base 2016-013-015
2 8 Roof construction screw WUERTH

0838448300
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

Dakplaat Hout – Tuimelanker

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Wooden roof toggle bolt

2016-013-018

10-jul-20

1:2

WH

A3 -

8 1 Hexagon nut DIN 934 M10 A2
7 1 Washer DIN 9021 - A10.5 A2
6 1 Flanged hexagon nut DIN 6923 - M10 A2
5 1 EPDM seal ring 9082EPDM10 NBR70 / Acrylonitrile-butadiene / Nitrile
4 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155 EN AW-1050A[Al 99,5] (Al1S) / 3.0255.10
3 1 Toggle bolt M10x300 2016-008-001
2 1 Toggle bolt washer
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Wooden roof toggle bolt

2016-013-018

10-jul-20

1:2

WH

A3 -

8 1 Hexagon nut DIN 934 M10 A2
7 1 Washer DIN 9021 - A10.5 A2
6 1 Flanged hexagon nut DIN 6923 - M10 A2
5 1 EPDM seal ring 9082EPDM10 NBR70 / Acrylonitrile-butadiene / Nitrile
4 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155 EN AW-1050A[Al 99,5] (Al1S) / 3.0255.10
3 1 Toggle bolt M10x300 2016-008-001
2 1 Toggle bolt washer
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

Kanaalplaatvloer – Mechanisch Anker

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Hollow core slab

2016-013-020

10-jul-20

1:2

WH

A3 -

9 1 Threaded rod M10 A2
8 1 Hexagon nut DIN 934 M10 A2
7 1 Washer DIN 125 - A10.5 A2
6 1 Shield anchor FM-744  - M10 A2
5 1 Washer DIN 9021 - A10.5 A2
4 1 Flanged hexagon nut DIN 6923 - M10 A2
3 1 EPDM seal ring 9082EPDM10 NBR70 / Acrylonitrile-butadiene / Nitrile
2 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155 EN AW-1050A[Al 99,5] (Al1S) / 3.0255.10
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

Date

Scale

Sig

Dim N° :

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR IN

THIRD PARTIES.

Solarfix Low Perfo - Hollow core slab

2016-013-020

10-jul-20

1:2

WH

A3

9 1 Threaded rod M10
8 1 Hexagon nut DIN 934 M10
7 1 Washer DIN 125 - A10.5
6 1 Shield anchor FM-744  - M10
5 1 Washer DIN 9021 - A10.5
4 1 Flanged hexagon nut DIN 6923 - M10
3 1 EPDM seal ring 9082EPDM10
2 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions

2

1

94 5 3

6

7

8

Volbeton dakvloer – Mechanisch Anker

11

Date

Scale

Sig

Dim N° : Sheet :  /

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR INSPECTION TO BE GIVEN OR ARE USED FOR

THIRD PARTIES.

AMERICAN
PROJECTION

TOLERANTIES   VLG.DIN  7168-M
VORMPLTSTOL. VLG.DIN ISO 1101
OPP.RUWHEID.  VLG.DIN ISO 1302

Rev. :

Solarfix Low Perfo - Concrete slab

2016-013-021

10-jul-20

1:2

WH

A3 -

9 1 Threaded rod M10 A2
8 1 Hexagon nut DIN 934 M10 A2
7 1 Washer DIN 125 - A10.5 A2
6 1 Shield anchor FM-744  - M10 A2
5 1 Washer DIN 9021 - A10.5 A2
4 1 Flanged hexagon nut DIN 6923 - M10 A2
3 1 EPDM seal ring 9082EPDM10 NBR70 / Acrylonitrile-butadiene / Nitrile
2 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155 EN AW-1050A[Al 99,5] (Al1S) / 3.0255.10
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions Material / Standard

Date

Scale

Sig

Dim N° :

:

:

:

:

Teddingtonweg 28G
2421 LL Nieuwkoop
T: +31(0)172-575570
I: www.eyecatchersafety.com

THIS DRAWING REMAINS PROPERTY OF EYECATCHER (COPYRIGHT ACCORDING TO ARTICLE 31 OF AUTHORSLAW).
SHE CANNOT BE COPIED WITHOUT OUR WRITTEN AUTHORISATION WHOLE OR PARTIALLY, NOR TO THIRD PARTIES FOR IN

THIRD PARTIES.

Solarfix Low Perfo - Concrete slab

2016-013-021

10-jul-20

1:2

WH

A3

9 1 Threaded rod M10
8 1 Hexagon nut DIN 934 M10
7 1 Washer DIN 125 - A10.5
6 1 Shield anchor FM-744  - M10
5 1 Washer DIN 9021 - A10.5
4 1 Flanged hexagon nut DIN 6923 - M10
3 1 EPDM seal ring 9082EPDM10
2 1 Tiwstfix Anchor Post - Low - Perfo 2016-004-155
1 1 Rosette Ø540xØ130mm

Item Qty Description Dimensions

2

1

94 5 3

6

7

8

Mechanische en windbestendige fixatie van PV panelen op platte en hellende daken.  
Direct bij het frame te plaatsen of middels een connection bar.


